

Republic of the Philippines BATANGAS CITY GOVERNMENT

P. Burgos St., Batangas City Tel. Nos.: 402-2600 TeleFax No: 722-2764 website:www.batangascity.gov.ph Email Address:batangascitysec_pg@yahoo.com

NOTICE OF AWARD

October 13, 2021

MS. FLORHEAN M. LAPUZ Owner FLORRHEAN LAPUZ FISH STALL Stall #39 Meat Vendor Old Market, Batangas City

Dear Ms. Lapuz:

This is with reference to the Supply and Delivery of Food Supplies as requested by Batangas City Government through Negotiated Procurement under Section 53.2 - Emergency Cases of the 2016 Revised Implementing Rules and Regulations (IRR) of Republic Act No. 9184 (RA 9184).

Relative thereto and as recommended by the Bids and Awards Committee, the subject procurement is awarded to your company in the contract price equivalent to One Hundred Fivety-Seven Thousand One Hundred Pesos (Php 157,100.00).

Your company shall enter into contract upon receipt hereof.

Very truly yours,

Head of Procuring Entity

Conforme:

Date:



Republic of the Philippines Batangas City

P. Burgos St., Batangas City website:www.batangascity.gov.ph Email Address:batangascitysec_pg@yahoo.com

#BAC RESOLUTION NO. 201 538

RECOMMENDING THE USE OF NEGOTIATED PROCUREMENT-EMERGENCY CASES AS MODE OF PROCUREMENT FOR THE SUPPLY AND DELIVERY OF FOOD SUPPLIES FOR USE OF BATANGAS CITY GOVERNMENT

WHEREAS, Section 15 Article II of the 1987 Constitution avers that the State shall protect and promote the right to health of the people and instill health consciousness among them;

WHEREAS,

Batangas City Government intends to procure Food Supplies (Wet and Dry) charged under Trust Fund (Cash Advance) to be served for frontliners assigned in and Covid-19 patients currently confined in various Temporary Health Facilities of Batangas City Government and those isolated/quarantined in their homes as requested by BCIMT-Logistic Section/Kitchen Brigade;

WHEREAS,

Batangas City, under the General Community Quarantine is still experiencing PANDEMIC, thus, there is an utmost need to procure goods hereunder listed for the health and nourishment of patients confined at the Temporary Health/Isolation Facility, their respective homes and frontliners assigned in the conduct of Covid19 programs and activities;

WHEREAS,
the Bids and Awards Committee (BAC) is authorized to resort to Alternative Method of Procurement in Accordance with the provisions of Section 53.2 of the IRR of RA 9184 (Emergency Cases) citing the utmost need to save and to prevent damage to or loss of life or property, or to restore vital public services:

WHEREAS, upon canvass of these goods, it appearing that the price offered by the following suppliers hereunder enumerated was found to be the most reasonable and advantageous to the City Government, if accepted;

NOW, THEREFORE, RESOLVED as it is Hereby Resolved, to RECOMMEND to the HoPE for the APPROVAL of the AWARD and ACCEPT the offer made by the following suppliers for the Supply and Delivery of Food Supplies in the grand total amount of **P999,013.00** to wit.

FLORHEAN LAPUZ FISH STALL – MARKET I BCFPM, POB. 22, BATANGAS CITY				
QTY.	UNIT	ITEM & DESCRIPTION	UNIT PRICE	AMOUNT
467	kg	Bangus	200.00	93,400.00
490	kg	Tilapya	130.00	63,700.00
430	- "8		TOTAL	P157,100.00

JANING DRESSED CHICKEN STALL – MAHABANG DAHILIG, BATANGAS CITY				
QTY.	UNIT	ITEM & DESCRIPTION	UNIT PRICE	AMOUNT
861	kg	Chicken	160.00	137,760.00
			TOTAL	P 137,760.00

QTY.	UNIT	ITEM & DESCRIPTION	UNIT PRICE	AMOUNT
56	box	Apple	1,600.00	89,600.00
32	box	Ponkan	1,600.00	51,200.00
5	box	Ponkiat	1,600.00	8,000.00
			TOTAL	P 148,800.00

QTY.	UNIT	ITEM & DESCRIPTION	UNIT PRICE	AMOUNT
95	pack	Chicken Tapa (Purefoods) 450g	115.00	10,925.00
20	pack	Chicken Tocino (450g-PF)	115.00	2,300.00
90	pack	Hungarian Sausage 1kg	240.00	21,600.00
27	bag	Hotdog (Tender Juicy) Jumbo 3kg	420.00	11,340.00
45	pack	Longganisa (CDO Funtastyk) 1kg	243.00	10,935.00
500	pack	Pork Tapa (Joshua) 250g	54.00	27,000.00
10000	pack	Classic Tocino (Purefoods)1kg	240.00	24,000.00
			TOTAL	P 108,100.00

OTY	NDIGMA PORK & BEEF STALL - PUBLIC MARKET BAUAN,		UNIT PRICE	AMOUNT
QTY.	UNIT	ITEM & DESCRIPTION	330.00	117,810.00
357	kg	Beef Laman	290.00	29,580.00
102	kg	Beef Ribs	TOTAL	P 147,390.00

		Deer Mids	TOTAL	P 147,390.00
MADIO	Dieta cons	SERVICTORE CUTA DATANCAS CITY		
		ERY STORE – CUTA, BATANGAS CITY ITEM & DESCRIPTION	UNIT PRICE	AMOUNT
QTY. 57			80.00	4,560.00
1	kg	Ampalaya Asin	400.00	400.00
1	kg	Asuete	180.00	180.00
20	kg	Asukal na Puti	50.00	1,000.00
4	bag	Bawang	950.00	3,800.00
2	kg	Beans	100.00	200.00
6	kg	Bell Pepper	130.00	780.00
50	sack	Bigas	1,000.00	50,000.00
15	can	Black Beans	50.00	750.00
12	рс	Butter	70.00	840.00
32	kg	Carrots	70.00	2,240.00
8	box	Chopsuey	80.00	640.00
5	kg	Cornstarch	50.00	250.00
10	bag	Dahon ng Sili	50.00	500.00
1	box	Dishwashing Liquid (Maxglow)	480.00	480.00
21	рс	Cheese (Eden)	50.00	1,050.00
100	tray	Itlog	180.00	18,000.00
5	-	Kalamansi	80.00	400.00
	kg	Kalamyas	300.00	1,200.00
4	kg	Kamatis	60.00	2,520.00
42	kg		30.00	1,200.00
40	box	Knorr Cubes	60.00	600.00
10	kg	Labanos	180.00	1,260.00
7	bottle	Lea & Perrins 290ml		3,000.00
15	kg	Luya	200.00	1,000.00
25	kg	Magic Sarap (120gms)	40.00	
10	balde	Mantika (Freeto 16kgs)	1,000.00	10,000.00
50	kg	Monggo	100.00	5,000.00
10	gal	Oyster Sauce (King's)	180.00	1,800.00
3	kg	Paminta	400.00	1,200.00
0		Papaya	25.00	500.0
	kg		100.00	9,500.0
5	kg	Patatas	90.00	630.0
7	gal	Patis (Dip)		
3	kg	Petchay Baguio	70.00	560.0
3	tub	Pickles	400.00	1,200.0
7	can	Pineapple Juice	85.00	595.0
8	can	Pork & Beans	60.00	1,680.0
10	can	Reno	40.00	4,400.0
			100.00	1,300.0
3	kg	Repolyo		
0	рс	Saging na Saba	4.00	320.0
2	рс	Scotch Brite	40.00	80.0
4	bag	Sibuyas	1,600.00	6,400.0
4	kg	Sili Green	70.00	280.0
4	рс	Sinigang Mix	12.00	648.0
5	bundle	Sitaw	200.00	1,000.0
2				
	pack	Sotanghon	230.00	460.0
5	tub	Star Margarine	220.00	1,100.
7	gal	Suka (DS)	70.00	490.
0	tali	Talbos ng Sili	50.00	500.
5	рс	Tomato Paste (Del Monte 150gms)	30.00	
5	рс	Tomato Sauce (Del Monte 1kg)		1,350.
5	gal	Toyo (Datu Puti)	85.00	1,275.
-			150.00	750.
5	kg	Vetsin (Ajinomoto)	185.00	925.
4	can	Mushroom Whole	60.00	2,040.
		The same of the sa		

PRINCESS	JHENICA	V. BUENAFE MEAT STALL – STALL23 MARKET	1 BCFPM POB. 22, BATS.	CITY
QTY.	UNIT	ITEM & DESCRIPTION	UNIT PRICE	AMOUNT
507	kg	Pork	290.00	147,030.00
	6	FOIK	TOTAL	P 147,030.00

Summary of which is as follows, viz:

FLORHEAN LAPUZ FISH STALL	P 157,100.00
JANING DRESSED CHICKEN STALL	137,760.00
JOEL & NENE FRUIT STAND	148,800.00
JOSE CARLO MAGPANTAY STORE	108,100.00
LEO MANDIGMA PORK & BEEF STALL	147,390.00
MARJORIE'S GROCERY STORE	152,833.00
PRINCESS JHENICA V. BUENAFE MEAT STALL	147,030.00
	P 999.013.00

RESOLVED and APPROVED unanimously, at the Batangas City, this 13th day of October, 2021.

ATTY. TEODYLFO A. DEGUITO

City Legal Officer Chairman

JOCELYN E. CANTRE
City General Services Officer

Member N

ATTY. NARCISO B. MACARANDANG

City Administrator

Member

ENGR. DWIGHT VIRGILIO C. ARELLANO

City Engineer Member GILDA L. GODOY

OIC-City Planning and Devit Coordinator

Vice Chairman

MANOLO NI PERLADA

OIC- City Budget Office

Member

JOSEPHINE P. MARANAN

City Civil Registrar

Member

CAROLINE E. PEREZ

Rep. of CGSO

End-user/Implementing Office

Approved:

HON. BEVERLEY ROSE A DIMACUHA

City Mayor

City iviay